

Punkt II Algebra I

$$f(x) = x^5 - 6x^3 - 8x^2 - 3x$$

$$\text{Rang } x = -1$$

1) multiplizität 3

$$p(x) = (-1)^5 - 6(-1)^3 - 8(-1)^2 - 3(-1)$$

$$-1 + 6 - 8 + 3 = 0 //$$

$$p'(x) = 5x^4 - 18x^2 - 16x - 3$$

$$p'(-1) = 5(-1)^4 - 18(-1)^2 - 16(-1) - 3$$

$$5 - 18 + 16 - 3 = 0 //$$

$$p''(x) = 20x^3 - 36x - 16$$

$$p''(-1) = 20(-1)^3 - 36(-1) - 16$$

$$-20 + 36 - 16 = 0 //$$

2) Reste faktorisieren

$$(x+1)^3 = x^3 + 3x^2 + 3x + 1$$

$$x^5 - 6x^3 - 8x^2 - 3x : x^3 + 3x^2 + 3x + 1 = x^2 - 3x$$

$$-1. \quad x^5 + 3x^4 + 3x^3 + x^2$$

$$-3x^4 - 9x^3 - 9x^2 - 3x$$

$$-1. \quad -3x^4 - 9x^3 - 9x^2 - 3x$$

0

3) formale Faktorisierung

$$x(x-3)(x+1)^3 //$$

$$\text{Reste} = 0 \text{ u. } 3 //$$

II

$$a) \sum_{n=1}^{\infty} \frac{2n^2}{(n-2)(n+1)} \rightarrow \frac{2n^2}{n^2-3n-2} = \lim_{n \rightarrow \infty} = \frac{2}{1} \neq 0$$

diverge //

$$b) \sum_{n=1}^{\infty} \frac{(n+4)!}{2^n n^2 (n+1)!}$$

$$a_{n+1} = \frac{(n+5)!}{2^{n+1} (n+1)^2 (n+2)!}$$

$$\frac{(n+5)!}{2^{n+1} (n+1)^2 (n+2)!} \cdot \frac{2^n n^2 (n+1)!}{(n+4)!} = \frac{n^2 (n+5)!}{2 (n+1)^2 (n+2)}$$

$$\lim = \frac{1}{2} \neq 0$$

diverge

$$\sum_{n=1}^{\infty} \frac{(-1)^n (x-5)^n}{2^n (3n+2)}$$

$$C_n = \frac{(-1)^n}{2^n (3n+2)}$$

$$C_{n+1} = \frac{(-1)^{n+1}}{2^{n+1} (3n+5)}$$

$$\left| \frac{(-1)^{n+1}}{2^{n+1} (3n+5)} \cdot \frac{2^n (3n+2)}{(-1)^n} \right|$$

$$\downarrow$$

$$\frac{(3n+2)}{2(3n+5)} = \lim_{n \rightarrow \infty} = \frac{1}{2}$$

$$R = 2$$

Intervalo de convergencia absoluta

$$(5-2, 5+2)$$

$$(3, 7) //$$

$$b) \frac{(-1)^n (-2)^n}{2^n (3n+2)} = \frac{2^n}{2^n (3n+2)} = \frac{1}{(3n+2)} \text{ Answer //}$$

$$c) \frac{(-1)^n (2)^n}{2^n (3n+2)} = \frac{(-1)^n}{3n+2} \text{ Answer //}$$

(3, 7] //